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- E 2 3 = e SEEL
B2=3) wazty | ®any | S%4E | HE
Ark(171/300~3509) 2,081 2,024 57 2.82%
Hi (17H/650~700g) 3,953 4,849 |- 896 -18.47%
2(171/1kg) 1,934 1,969 |- 35 -1.78%
Hi 2=(1 27| /3kg) 5,044 4,537 507 11.17%
CHitH(15/S/1kg/2E 7HA) 2,220 2,174 46 2.12%
20|(37H) 2,741 2,502 239 9.55%
K| 07| (= 4F/2FE4/6009) 16,464 15,384 1,080 7.02%
SET= SE7|(10H2] /1kg) 6,218 6,138 80 1.30%
(16E3) A D7|(=Z /=7 HE LK /1S 38,258 38,656 |- 398 -1.03%
2| 07| (= &i4t/LAZH[/6009) 20,938 20,723 215 1.04%
= ZF(1EH/CH2k/307H) 7,505 7,622 |- 117 -1.54%
Z71(10F2] /= 4F/15m) 1,404 1,357 47 3.43%
ZX|(10t2]|/=4H/80ecm) 6,920 6,730 190 2.82%
150 10r2|/=4t/30cm) 3,078 3,026 52 1.72%
HEf(10r2]/2H A|OFLF/40¢m) 3,724 3,877 |- 153 -3.94%
L H0o{(10t2|/3-=/30cm) 4,034 4,362 |- 328 -7.51%
% (20kq) 61,110 61,630 |- 520 -0.84%
2| (=4/1kg) 3,714 3,739 |- 25 -0.67%
LIt (1kg) 1,655 1,772 |- 117 -6.60%
7t0F=(1kg) 11,140 11,164 |- 24 -0.21%
A7t F (S EHE/1ko) 1,466 1,466 - 0.00%
2 ((152/300g/3 At +W1| 1,073 1,083 |- 10 -0.92%
M= AME82(18L/E7|E 6,350 6,185 165 2.67%
(145 5) A2F(1HY 360m2/ADH7§) 1,290 1,290 - 0.00%
O 2= (19 500me/A 01 ) 1,490 1,490 - 0.00%
A (1Y 360me/2] Al 4,000 4,000 =3t
DH"(1 B 500me/2| &) 4,000 4,000 H5t
3|22 (L) 1,629 1,629 - 0.00%
74 S(1L) 1,427 1,427 - 0.00%
S(1L) 941 941 - 0.00%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




